
Lesson 3               Arithmetic Practice 
1 5 x 9 =   

 
 
 
 
 
 
 
 
 
 
 
 

1 mark 

                    

                    

                    

                    

                    

                

               

                    
 
 

2 95 - 60   =  
 
 
 
 

 
 
 
 

1 mark 

                    

                    

                    

                    

                    

                

               

                    

 

3 73  + 34 =   
 
 
 
 
 
 
 
 
 
 
 
 

1 mark 

                    

                    

                    

                    
                    

                

               

                    

 

 

 



4 
 
 
 
 
 
 

3 x 9  =  
 
 
 

 
 

 
1 mark 

                    
                    
                    
                
               
                    

 

5 = 257 + 675  
 
 
 
 

 
 
 
 

1 mark 

                    

                    

                    

                    

                    

                

               
                    

 

6  6 x          = 66  
 
 
 
 

 
 
 
 

1 mark 

                    
                    

                    

                    

                    

                

               

                    

 

 

 

 



7  +   70   =  620  
 
 
 
 

 
 
 
 

1 mark 

                    

                    

                    

                    

                    
                    

                    

                

               

                    

 

8 3 + 62 + 8 =  
 
 
 
 
 
 
 
 
 
 
 
 

1 mark 

                     

                     

                     

                     

                     

                 

                

                     

 

9 733 + 224 =   
 
 
 
 

 
 
 
 

1 mark 

                    

                    

                    

                    

                    
                

               

                    

 

 

 



 

 

10  272 - =  80  
 
 
 
 

 
 
 
 

1 mark 

                    

                    

                    

                    

                    

                

               

                    
 

11 845 + 286 =  
 
 
 
 
 
 
 
 
 
 
 
 

1 mark 

                     

                     
                     

                     

                     

                 

                

                     

 

12 4 x  = 36  
 
 
 
 

 
 
 
 

1 mark 

                    

                    

                    

                    

                

               

                    

 

 

 



 


